Section BS Solving Equations Graphically, Numerically, and Algebraically

Quick Review PS5

L {3x = 4f = 0 — 12x = 122 + 16 = 0* — Hdx + 16

L2 43 =4 4 Gx b b 9 =dx 120 9
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4. (3p— 1)(5p +4) = 158 + 12y — Sy — 4
=157 + Ty — 4

5 252" — 20x 4+ 4 = (5 — 2)(5: — 2) = (5 — 2)°
6. 150 — 226 + Be = x{15:7 — 22x 1 8)

= x5z — 4){3x — )
TAc 4 — 15— 5= o3+ 1) - S3c + 1)
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F-s5cth £-x-h
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(x+ 1Mz + 2) {3z + 11)(x — 2)
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o 30+ 2) - (320 4 S - 22)
{x — 3}x — 24x + 2)
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e+ dhx - 3)
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Section P.5 Exercises
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Heey V=0

[= 10, 10 by [0, 340
r=—Aorz =5
The left side factors o (x + 4)(x — 5) =
r+d4=0 of x—5=10

x=—4 x=3

2
el V=i
-5, 51 by 114, 10]
r=—3dorx =103
The left side factors o (x + 3)(2x ~ 1) =@
r+3=0 o Zx—1=10
xr=-3 2r=1
=05
1 /
H=£ Lm
-3, 3] by [-2,2]
r=050rz = 1.5
The left side factors o (2x — 1)(2x — 3) = 0c
Zx—1=0 or 2x—3~=0
2xr=1 2x=3
x =03 x =13
* l \K/
L "I'ﬂl
[-6, 6] by [ -4, 4]
r=3orx = 5§

Rewrile as ©° — Bx + 15 = ik the lei side factors o
(x = 3)x - 5)=M
x—3=0 or x—45=10

=3 =35

AL/
A

P 11117 Tl L]
-6, 6] by [-20. 20]

2
= —mar g =3
- 301x
Rewrite a5 3x° — Tx — 6 = (K the lef side factors

(35 + 2)(x —3) = O
Ix+2=10 ar x—3=10

2
X = - x =3
3

15
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i
Rk Yz
=10, 10 by 30, 30]
4
=—5 ==
X orx 3

Rewrile as 3 + 11x — 20 = 0; the left side fetors o
{3 — 4)(x + 5) = Ik
Jxr—d4=0 or z+5=10

4
- ]
x=3 x

7. Rewrite as (2x)* = 5 then2x = 45,07 x Ig.
#. Divide hoth sides by 2 10 get (x — 5)° = £5.Then
x—5=+vESandx =5 £ VES.
4, Divide both sides by 3 1o get (x + 4)F = E—; Then
I I
=4 = S 2
x+4 :I:,'Illlgandx 4:&,\,3.

1 Divide both sides by 4 10 pet (u + 1) = 4.5, Then
u+1=+vI5mndu = -1 + VIE

i1. Adding 2% + &t both sides gives 4 = 14, Divide hoth
| el
. 7 17
gides by 4 1o pet ¥ Ses0¥ !"-.'IE'
E 1350 x %{ 3 4+ 13), which gives

x=—RBorx =5
13 £t 3P o743

12 2 4+ 3

(x+ 37 =16
x+3=xTh
x=-3+4
X TJorx — 1
14. £ +56=9

5 z 5 x
rser(5) =0+ (3)
[x+ 258 =9+ 625
x+25=+vI5.25
x=—25— 1528 = —6.41 or
£ =—25+ V1525 = 1.41
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15, .ri—i'x——:

T
— ==+l
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T —
=4 %11
X 3 L'
T — 7 —
I_E_ 11 ===[rlﬂurx=i+ T = 682

Té. 11+ﬁ:=4 )
s B 6
xlﬁxl(z) 4'(5)
(r+3f=a+9
o+ 3= 413
x 34 4T3
x=-3- I3 = —Ahlorx = -3+ VI3 = 0L61

17. 2 - T 49 =2 —2x -3+ 3z
- Tx+9=x"+x—13

& —Bx=-12
— Br+ (4P =12 + (4
[ — 47 =4
r—d4 =42
r=4+72
r=2orx=h
1%, I - T b e 3
3t — Bx = 10

ER
i | |IE
S T
4 1
=3 :I:E\.-ﬂ
x= % - %»ﬂ = (83 orx = ; + %VE = 359

Woa=154=48andec=—%

—B+ VE - 4IH-2) -k 2 WTE
2(1) B 2

-8+ 6vI

== 41+ I
2z

x = —B2Morx = 024
ag=2b= T andc=1

_Jtv(—s}l—:t{z;{l}_stvi_gtl
= 2(2) T4 T 317%
X %nrx 1

21 2 — 3x — 4 = 0,50
a=1,b=-3 andc=—4
_mvm_uvg_gig
i 2(1) ST T272

r=—lorx=4
22 2 - VI - 5 =150
a=1,b=—vi andr = %
V3 £ VIV — a(1)(-5)
2(1)

N N |
T = E\- 3+ E\"E

x = —1530rx = 326
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23, 2+ 5r — 12 =0,m0
a=1,bh=5¢c=-12

_ 54 V5P — 4(1)(-12)

2(1)

—5+vT3 5 T3
2 2 2
x = —6TTorx = 177

M. — 4 — 32 = D50
a=1bk=—4 c=-32

(41 & (47 — 4(1)(-32)
201}

_4: VI#
2
= dorx =B
25, x-inlercepl: 3; y-inlercepl: —2
26. x-intercepts: 1, 3; y-interoepl: 3
27. x-intercepts: —2, 0, 2; y-intercept: O
28, no r-inlercepls: no panlercepls

=2+

" L
E S mussan lvza B2 camonn [vza
[~53.5] by [-5.5] [-5,5] by [-5.5]
. \ \- /
2%Fg 2%Fg
w==1.70z892 |¥=0 == 207107 1V=0
[~5.5] by [-5.5] [~5,5] by [-5.5]

. j

/

Zaro 1
#=,BuEP34zE [v=t

[=3 3] by [-3, 3]
i [\ j (\{l /
W A
Zera Zsrg
=1 6751308 [v=o #=.£3910887 [vzo
[-5 3] by [-5, 3] [-5, 5] by [-5,5]

1

ZaFy
i=-zziviz lv=e
[-3. 5] by [-5. 5]

"1

2eFa
=1.080080% [Y=hH
=5, 5] by [-5, 5]

Y

[-5,5] by [-5. 5]
B2y —1=0x =04
6o - Ix=lhx= 173

37, Using ThStart = 161 and AThl = (L0041 pives a wero
al 1.62,
Using ThiStart = —0.62 and AThl = U001 gives a wero
al—0.62.

38, Using ThiStart = 1.32 and AThl = 0061 gives a zero
al 1,32,

30, Graph y = [xr — &l and ¥ = 2:0 = Gort = 10
4 Graph y = |x + 1) and y = 4:x = ~Sorx =3
4L Graphy = [2x + Sland y = T:x = lorx = —6

42.Grmh_}r—|3—5x|andr—4:x——%::rz-%

43, Graphy = [2xr — 3and y = x5 x = 3orx =1

44, Graphy = |x + 1)and y = 2% ~ 3 x = 4

45, (a) The two lunctions are ¥y = 3%x + 4 {the one that
beping on the v-axis) and », = ©° — 1.

(b} This is the graph of ¥y = 3% T 4 — 2 + 1.

(e} The r-coordinates of the intersectons m the first
pictire are the same a8 the x-coordinates where the
second graph crosses the x-mous.

46, Any number between 1,324 and 1.325 must have the dygit
4 in ils thousandihs position. Such a number would round
01,32,

47, The left zide factors 1o (x + Z)(x — 1) =
r+2=0 o x -~ 1 =1

x=-2 x=1

48, Graphing v = «* — 184 (eg) [-10,10] 3 [-20,10] and
booking for T-inlercepls pives x = —424 or x = 424,
-3 =123+ 6

2 —-1&=0
49.2x —1=5 or 2x—1=-5
x =6 Ix = —4
=3 x=-2

S0, e+ 2 =2vE ¢ 3
o dx + 4 =Hx + 3)
=8
r=—vEorx= vH
— % i an exiraneous solution, x = H = 283
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